






























Consider or a x b

I an tba tab

x a b x tab

Factorising is the opposite of expanding

x 501 6
I 6

a 2 sits Itv
Etl Solve X 521 6 0

21 2 2 3 0

Either X t 2 0

x 2

Or It 3 0

x 3

Ex2 I 7 10 0
I to

x 2 x 57 0 ILIE
E the X 2 0

71 2
Or 2 5 0

31 5

Quadratic Equations



Ex 3 322 x 12 0

x 3 1 4 so I II
2 G
Z 6

E the X 3 0 or 2 4 0 3 a

2 3 x 4 3 4 s

Exa pi 5,1 24 0 1 24
I 24

I 3 121 8 1 0 2 12
2 12

Enter 2 3 0 0 l 8 0 3 8
2 3 3 8

Exercise Solve Grades

1 I 5 14 0 2 I thx 10 0

21 2 21 7 0 it 1 21 10 0

Either
31

or x 7 0 Either actio or xtioso
I I 21 to

3 i 4s 21 0 4 x 2 1 0

Gi 3 21 71 0 x 1 x 1 D

Either JC 3 0 or sat so Either x 1 0 ou x 1 0

1 3 1 7 3 x I

called a double root



Multiple x term Grade 71

Et 2,5 9 10 0

4 s

d 4 52 10
I 20

I to 2 21 2 5 21 2 0

221 5 x 2 TO

E the 2 5 0 or x 7 0

221 5

x E
2 2

Ex2 3 2
2 8 0

I 24

I

6 8 0

I 24 7 3 4 2 3 4 0

21 2 3 4 0

Either x 2 0

21 2

0 3 4 0

301 4

x I

Exercise Solve



D
5 3 15

5 821 t o

I If
512 3 5 3 o

01 5 3 I 5 3 0

x 1 51 3 0

Either
It

o 5.1 3 0

5 i J
se I

2 4
2
8 5 0

4 5
20

II

t on s o

2 221 1 5 2 1 0

2 1 5 2 1 0

Either

231,0
o 211 1 0

201 5 201 I

I I



Pythagoras Without a Calculator

Ext Find on By Pythagoras
K 4th

s 3 42 5
3am 9 16 x2

25 x

Is x

si 5cm

Ex2 x 82 102
21 101 828cm 10am
7 100 64
2,2 36
as 536
I 6 cm

Ex 12in
52 122 sit

5 se 25 144 sit
169 a

Toa a

I 13cm
Ex4

17 15

22

57 1,2
15in 11 9 75 212 177 152

170 150 x 289 225
f 289

x x 64
a JE
I 8cm



Pythagorean Triples

3,4 5 5 12,13 7 24,25 8 15 17

Trig Exact Values
300 450 600

Sin E E E
cos

I
tan

E

8g

Find a

sin600
3

851600 x

8 53 01

21 453 cm

Cosas

3
x 752


